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How many solutions can be found in the equation 31 + 15k =30+ 15k?

a. One c. Two
b. Zero d. Infinitely many
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How many solutions can be found in the equation 41 + 2k = 41 + 2%?

a. Two c. Infinitely many
b. One d. Zero

www.mrtownsend.com

math8_04_06_examples_notes2.gwb - 3/12 - Wed Sep 18 2019 16:41:29

math8_04_06_examples_notes2.gwb - 4/12 - Wed Sep 18 2019 16:43:30

powered by
mxw:..s.mm..w

How many solutions can be found in the equation —30n +5 = 5(n — Tn) +5?

a. One c. Two
b. Infinitely many d. Zero
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How many solutions can be found in the equation —10£+ 13 = 7(t — 3£) + 9?

a. Zero c. One
b. Two d. Infinitely many
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ExamViel/

What is the value of x in the following?
6—-2(8x—4)=—(dx—-1)+173

What is the value of x in the following?
4-3(2x-1)=(8—-8) - 139
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What is the value of x in the following?
—T-5@x—-1)=2—-(-Tx+5)+217

What is the value of x in the following?
3-3(-2x+8) =—6—(2x+8)+51
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What is the value of x in the following?
—6(8x—2)+ lx=—4x—-7(-5x-8)+ 116

What is the value of x in the following?
—S(8x+3)—4x=9+06(-9%—-T7)+23
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What is the value of x in the following?
—3-8(8x+8)=—(—2x—-9)—340

What is the value of x in the following?
4—-8(5x+8)=(—4x—T7)+55






